=

AIPNALS_4EALA

o
o

UEILA40_LZA4E Y

alphal3_4eX1X:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804

cyclenum

deltad46_12X4eY:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804

cyclenum

alpha4b_4ey4ay

7042

7041.5

7041

7040.5

7040

7039.5

7039

7038.5

7038

alpha46_4eY4aY:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804

cyclenum

run:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804
cyclenum

deltal3_lzx4ex

segment

o
o

25

15

05

deltal3_12X4eX:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804
cyclenum

segment:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804
cyclenum




USI_1A

usi_4ey

0.5

=

usl_1X:cyclenum {run == 7040}

P -
e e e eeeeamaenaaaaan .-

7802 7802.5 7803 7803.5 7804
cyclenum

usl_4eY:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804

cyclenum

usl_say

usl_12x

[

0.5

[

0.5

usl_4aY:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804
cyclenum

usl_12X:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804

cyclenum

usl_sex

7042

7041.5

7041

7040.5

7040

7039.5

7039

7038.5

7038

usl_4eX:cyclenum {run == 7040}

[

7802 7802.5 7803 7803.5 7804
cyclenum

run:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804

cyclenum



USI_L1A

usI_aey

0.5

=

usr_1X:cyclenum {run == 7040}

P -
e e e eeeeamaenaaaaan .-

7802 7802.5 7803 7803.5 7804
cyclenum

usr_4eY:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804

cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804
cyclenum

usr_12X:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804

cyclenum

usr_aex

7042

7041.5

7041

7040.5

7040

7039.5

7039

7038.5

7038

usr_4eX:cyclenum {run == 7040}

[

7802 7802.5 7803 7803.5 7804
cyclenum

run:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804

cyclenum



5362.2F

35362

5361.8|
5361.6f
5361.4
5361.2fF

35361}

5360.8

5360.6

5360.4 F

5360.2F

35360

usi_culo

=

usl_coill:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804
cyclenum

usl_coil6:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804

cyclenum

usl_coil3:cyclenum {run == 7040}

[

usl_cols

0.5

7802 7802.5 7803 7803.5 7804
cyclenum

usl_coil7:cyclenum {run == 7040}

5581.2

16581

5580.8

5580.6F

3580.4

5580.2

16580

5579.8

5579.6

3579.4

3579.2F

16579

7802 7802.5 7803 7803.5 7804

cyclenum

4311

1310.5

4310

1309.5

4309

7042

7041.5

7041

7040.5

7040

7039.5

7039

7038.5

7038

usl_coil4:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804
cyclenum

run:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804
cyclenum



31199

1199.5

31200

1200.5

-31201}

usI_coio

1

usr_coill:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804
cyclenum

usr_coil6:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804
cyclenum

[

usr_col3

0.5

usr_coil3:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804
cyclenum

usr_coil7:cyclenum {run == 7040}

7471.8

7471.6

4714 |

7471.2
17471
7470.8
7470.6
7470.4
7470.2

17470

7469.8F

7469.6

7802 7802.5 7803 7803.5 7804

cyclenum

2883.2

2883

2882.8

2882.6

2882.4

2882.2

2882

2881.8

2881.6

2881.4

2881.2

2881

7042

7041.5

7041

7040.5

7040

7039.5

7039

7038.5

7038

usr_coil4:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804
cyclenum

run:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804
cyclenum




-433.5

-434

-434.5

-435

-435.5

-520.2

5204 F
-520.6 F
-520.8 F

-521F
521.2F

-521.4F

-521.6

-521.8

-522F

-522.2F

-522.4

1X_coill:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804
cyclenum

4eX_coill:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804

cyclenum

1X_coll3
=

0.5

4ex_colls
=

0.5

1X_coil3:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804

cyclenum

4eX_coil3:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804

cyclenum

LA_Cuns

4eA_Cons

N
[y

20.5

19.5

19

N
N

215

21

20.5

20

1X_coil7:cyclenum {run == 7040}

7804
cyclenum

7802 7802.5 7803 7803.5

4eX_coil7:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804
cyclenum



168.2F

168

167.8F
167.6 F
167.4F

167.2F

167

166.8

166.6

166.4

166.2 F

166

181.2

181F
180.8F
180.6 F
180.4F

180.2F

180

179.8

179.6

179.4F

179.2F

179

4aY_coild:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804
cyclenum

4eY_coil4:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804

cyclenum

4ay_collb
=

0.5

4eY_collb
=

0.5

4aY_coil6:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804

cyclenum

4eY_coil6:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804

cyclenum

-11.5

-12.5

-13

-10

-10.5

-11

-11.5

4aY_coil7:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804

cyclenum

4eY_coil7:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804
cyclenum




-242

-242.5

-243

-243.5

—244

LZA_Colo
=

12X_coill:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804
cyclenum

12X_coil6:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804

cyclenum

12X_coil3:cyclenum {run == 7040}

05

12X_coil3
=
T

7802 7802.5 7803 7803.5 7804

cyclenum

12X_coil7:cyclenum {run == 7040}

-438

-438.5 -

-439

-439.5

-4401-

7802 7802.5 7803 7803.5 7804
cyclenum

~

12X_coil4

6.5

55

7042

7041.5

7041

7040.5

7040

7039.5

7039

7038.5

7038

12X_coil4:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804
cyclenum

run:cyclenum {run == 7040}

7802 7802.5 7803 7803.5 7804
cyclenum
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